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If two trains start moving in perpendicular directions at spéed of
50 and 60 kilometers per hour respectively. After one hour trains will be
at a linear distance of

(1) 110km )] more; than80 km

(3) lessthan 80 km (4) none of these

R & 2 e Rnsdt ¥ e 50 qur 60 RN, ftveer % A F W T o FA
¥ o5 R qeEw 3 e @ e W g0 W '

| @ 110/ (25 80 fFft |8 s

(3) sbmam @) T 8 F§ T

If in a game of 3 blue balls, 5 red balls and 2 white balls, probability of

winning iy -f";  what is the probability of loosing

7
™ 5 ® 5

(6))

3 : @ ]Soge of these

ot 3960 T, 5 T o 2wk T S Rt A T e a2,
& w7 8 e
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sti: .
Q“I‘:TO.‘“’ Questions
3. | If widthis doubled and length is reduced by %rd , then the area of rectanged
will
(1) increase by %rd (2) decrease by -;:rd
(8) doubled (4) none of these
A WS H AT A e ¥ qr = @y %rdﬁmﬁﬁmam%,wmaﬂ
CERTI
1
(1) Frdd m @ srdd wm
(3) & T &rm @ T A PR T
4. | If government spends more than its current revenue income, it will lead
to
(1) increasein employment (2) inflation -
(3) both of these__ * (4) none of these
A THR §HH GO0 ST A § AR g Fd B, 92 & S
(1) IR ¥ gfs At &R (2) gErEmia # AR
(3) FTH & I (4) 379 4 P 7
9. | Increase in marginal propensity to import will

(1) increase the value of multiplier N
(2) have no effect on multiplier i &
(8) same effect as that of increase in MPC
(4) none of the above -
amE % fg i ygfy & afe Esbﬁ"

Q) T %99 7 gfs

(2) T W HE 99 T8 &M

(3) MPCH gf& %I <& T9F I9E

4) SHF 7 § F 8
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Critical minimum effort thesis and big push theory of development are
(1) similar to each other (2) contradict each other

(38) unrelated (4) none of these

Hilas FAeH g9 i T R & ger a9 e B

(1) T TR 3 &9 @) & g 3

(8) sresfE (4) 3 @ B T

For modernisation of economy, agriculturé is a source of
(1) investible surplus (2) labour

(3) both of these (4) none of these

ol R & smyFEET 3 Rig, B o @ @

(1) fRAw 3mg e 2 =m

3 ™ { A 4) ¥ 8 3 7@

Development trajectory of an economy i8 a function of
(1) rate of capital formation (2) choice of technique
(3) both of the above (4) none of the above
T FY T wOAEE TR0y s wH R

(1) T o @ Q) TF B T &

(8) U AFf w (4 SHH § q 2 76

Which of the following economists is not'knbvﬁm for his/her contribution to
development economics

(1) Amartya Sen (2)- Nurksé -

(3) Marshal : (4) Todaro

Frt & & d-a1 el s, /od R e # 2 3 Rie 98 o o @
1) o 39 @ =R

(3) wisfa (4) A=t
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Question -
No. | Questions
10. | If three countries grow at equal rate, then after 10 years

(1) these will be equally developed
(2) need not be equally developed

(3) will be equaﬂy developed only if these countries were at the same

level of development
(4) none of the above
it &9 29 G W W gRE e B, @ 10 g uvEmE
1) 78 W 0 & R 3
(2) TN &Y @ famiaa 89 i vavEHar T
(3) AN &Y § Rya & daw IR T 20 REm P T ' OWEH
(4 ST F 8 B T

11.

With increasing awareness of harmful consequences of environmental

pollution, cetris paribus, share prices of luxury cars will

(1) decrease

2) increﬁse

(3) cangoin eithe.r direction

(4) none of these = :

qaferer ST & EiERe RO A aed gf S @ A, AR o A g @
fremETsT &1 & A9 I

(1) =&

2 &

3) Polt ot R A o TR ¥
@ T & I T

L

e,
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12.

Major contribution of Keynes that distinguishes him from his pre-decessors
is his theory of B

(1) interest rate distribution

(2) taxation '

(3) price

(4) equilibrium at less than full employment levels

3 H 9 AR o 5 o o JHgRidt & ore w8, o @ R @
(1) = & faaer

(2) MgH

@ ™

@) T TR & § F9 T @

13.

In IS-LM framework diagram shows equilibriuni levels of
(1) Income and employment '

(2) Employment and rate of interest S

(3) Inflation and rate of interest

(4) rate of interest and income

IS-LM 2R & R P & aramen @l # Ramr §
(1) ™ T AT (2) TSR T & & T
(3) HERHIG T = B & (4) = FiEX T&W AF

14.

T
Normal or usual aggregate consumption curve will cut Y’ axis at

(1) origin (2) ;at positive value

(3) atnegative value (4) any of the above

ST ST WS W U 9 Y W @ W e
1) o @) T T W

(3) FMe® TH W (4) I & | B Al
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Noi. Questions
15. | Which of the following is a transfer payment

(1) Wages of workers

(2) Interest on bank deposits

(3) Rentofa building .

(4) None of the above

R 3 & B-aT Sfeel G ¥ 7
(1) sfeER B TR

(2) o T W AW

(3) Pt A @ R

@) woE ¥ ¥ B T

16.

Disguised unemployment is more likely to occur in

(1) market economy (2) developed countnes J
3) _under developed economy (4) none of the above

o g AT 3 oife A 1 T ¥

(1) SR Seferaen | (2) fef 39 A

@) ot ffa orf-emenst # (4) S § & @15 e

17.

Capital formation isa process of

(1) generation of saving

(2) construction of buildings

(3) deposﬂ: of savings in banks f ,,

(4) creation of additional production capacﬂ:y
o Pt o SR & s R

(1) Fua F

(2 vt @ FE

@) ¥ § St & IH S

(4) S e @ &
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18.

‘Development is the best contraceptive’ implies
(1) With development more effective contraceptives become available
(2) To central population growth, contraceptives are not needed

(8) With économic development, rate of growth of population will come
down in due course :

(4) None of the above

‘T TEH U9 R IR e @

(1) " & o Y TwERt Sug Sy 8 &

(2) vEE gia FriEer & e Sudl @ savasw @ &

() s Rem 3 Gy, w%mmﬂwaﬁrwaﬁuﬁ%m
(4) SWF H q IR &

19.

Lewis model of development was based on
(1) éurplus labour in traditional sector
(2) urban unemployment

(3) both of the above

(4) none of the above .

forr 1 g3@ Hisw i@ o1

(1) I &5 | SIfiie 99 ®

2) T AT |

(3) IR At

4) IR ¥ A 9

20.

In South-East Asia, highest ranking in terms of human development index
is generally achieved by

(1) India (2) SriLanka

(3) China (4) None of these

- aRyer-gd o 7 e R geEeis 3 9 7 gean A & o R @
(1) 9ra (2) 4 &= A

3) @3 (4 F% & o5 78
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21. | If cash reserve ratio is increased by RBI, it will lead to

(1) decrease in money supply

(2) increase in money supply

(3) inflation

(4) none of these
qﬁRBImWWWWﬁ'ﬂTW% ﬁ‘ragérmw

D) gmomgd A FR AR (2 T o A gRx A o

22.

(3) AR AR @) T A 9 W B R

If currently one British Pound exchanges for Rs. 80, appreéiation of rupee
willimply X

(1) One British Pound will be available for less than Rs. 80.

(2) One British Pound will be available for more than Rs. 80

(3) Studying in Britain will become costlier for Indians.

(4) None of these. :

R T # o Bt weve @ R 80 . ¥ diar B, v 9 gegaRs F1 wowE &
(1) & fBfew we"s 80 %. & % § Iy &M

2) & ffes-umvs 80%. & wfvs # Suwer &

@) A & R BN ¥ wor wEd @ oo

@) T § F3 T : ¢

23.

Progressive tax policy implies greatér T:‘eliance oﬁ
(1) Excise tax | ~ + (2) Indirect taxes
(3) Income tax - (4) None of these
srfeier T AT Frer 9 gege ored PR F @
(1) S FX (2) I H

(3) SH 4) ¥ 8 FE T
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24. | Say’s Law implies
(1) demand creates its own supply
(2) supply creates its own demand
(3) both of the above
(4) none of these
# %1 fram 3@ e @
(1) =T 5 oIt @G ST 8
(2) SRt ST AT @ qw @
(3) IUUF A
@) T q P T
25. | Increase in usage of credit cards will lead to demand for money
(1) Increasing (2) No effect
(38) Decreasing (4) None of these
Afe o€  owi X ofe qW B R A A 2 o & omm
1) & (2) s
(3) (4) =¥ @ F§ T
26. | If an agricultural farm has work for only 4 persons and five members of a

family work on this farm, it is a case of 7

(1) disguised unemployment (2) open ﬁngmployment

(3) full employment (4) .over employment

IR v R T 3 W e 4 B R A B au 5@ e o R aRew 3 o
T B B 8, I8 A © _ :

(1) g g ¥ @) g T

(3) Tf S & (@) Iy IR &
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. 21.

If rate of growth of country ‘A’ is 7.4% and f&)_r country ‘B’, it is 7.2%, then it
can be concluded that

(1) Country ‘A’ is developing faster

(2) Country ‘A’ is growing faster

(3) Both of the above

(4) None of the above
trﬁ%m‘A’ﬁqﬁ‘ﬁﬁﬂu%%am%sr‘B’%W%M%%aﬂqawmw
o T § R

(nmwwwwmmmmw%

@) A It TN A FE @R

(3) SHAF

(4) IRF ¥ | B T8

28.

Coexistence of modern and traditional économic structure is called
(1) mixed economy ~ (2) growth paradox.

(3) economic dualism (4) none of these
mgﬁmwwmwﬁmm%%waﬁﬁaﬁwm%

(1)  Tf¥a ot egaeen @) e e

(3) i &dan 4) T & P15 T

29.

In Rostow’s theory of development, different stages relate to
(1) population size ‘-f; q

2) rate of grbwth of population

(3) composition of national.income - -

(4) all of the above

R 3 I 3 fera o, R sEwd de6iE ¥

1) Eend amR e (2 TEe A R

(3) T A T A (4) ST @ @
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30.

‘Theory of vicious cycle of poverty is

(1) primarily an explanation of why countries are poor
(2) primarily an explanation of why individuals are poor

(8) primarily a strategy of poverty removal

‘(4) none of the above

ﬂﬁa%gﬁrﬁsﬁfﬁ@ﬁ%

(1) e w9 & g8 aren & g w6 i ¥
(2) wrfte &7} wF are 5 @t & e §
(3) wHfE &Y @ e geM B T THIN 2
4) S F § FE TE

31.

In short run, a firm can make losses and yet continue to produce
(1) True

(2) True only under some market strucfures

3) F:sdse

(4) Cannot éay A

g ordfy ¥, TF T THAN IO SR FW G 8

(1) w9

v wa

P

©2) FB IR G B Rie T
@) o
@) Fe & TR
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32. | By real income we mean
(1) Income after reducing taxes
(2) Salary plus bribes collecfed minus taxes
(3) Both of the above
(4) None of the above
JRAfas A q AR I R
(1) N 9eA $ 97 IF
(2) T FEER ¥ T R Ryad
(3) ST M
(4) SRF T § B T
33. | Which of the following cost curves can never have ‘U’ :e;hape i
I (1) Total fixed cost (2) Total cost curve
3) Avera'ge fixed cost (4) All of the above |
Frefffes 3 3 By A 9 91 A U ST 1 A T 8 e ?
(1) 9 @R qFE (2) FF A aF
(3) ofwa fer arm (4) ST g
34. | In case of perfectly competitive factof f_a?_s well as product markets, v;rith

increase in MSP,, wage rate will

(1) increase 2 ;_(2) decrease

3) remain constant (4) All of the above are possible

T AR /A F Y-S s S9R S A §, MSP, # 99 3 |, qﬁ{&ﬂt
1) s (@ =

(3) Rer @ (4) ST T da 3
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Q“;IS:?"" Questions

35. | In an oligopolistic market, key characteristic it
(1) product homogenity - (2) recognition of interdependence
(-3) 'both of the above - (4) none of the above .
et SR ¥, ge s 3
(1) STR gI&Ew (2) fafisar # e
(3) Yl I (4) Sqia ¥ & % W

36. | If average cost is rising, then marginal cost
(1) isrising at a faster rate (2) is rising at slower rate
(3) may be falling (4) all of the above are possible
IR g arE Sg @ E, 99w ard
(1) faRRATE 2 MA@ E
(3) & wHWm e HE W@ A (@) ST @ €99 §

37. | When we use term ‘profit’, it means
(1) Normal profit (2) Supernormal profit
3) Both of the above (4) None of the above
9 B9 - U% P ST F 8, TEH A 2
(1) = @™ @) FREE
(3) TUhF A (4) I A 9 FE

38. | Higher the slope of a traditionally drawn demand curve, absoulute value

of price elasticity of demand will be | i

(1) lower (2) higher

(3) ‘nothing can be said (4) - rone of the above
QTERA B9 A SIC T §T 96 H N o S 8, HiT b qed A @ 0T A
il :

(1) R @) =X

(3) B e TE N HHA 4) IF T q P T
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39.

| dwig ema (MR) @ diwia o/ I (MRP)

Marginal Revenue (MR) and marginal Revenue product (MRP)

(1) mean the same .

(2) mean the same un;der some conditions

(8) mean different things

(4) may mean same or different things dependmg on market structures

(1) & g & 9+ 8

(2) & FB & B A AT T 2

(3) ST IEGS & AREE T

(4) T SREE & STYEr e SR HE ) MR e §

40.

Which of the following is not treated as ‘Production’ in modern ecomomics?
(1) Teachingin a Government School

2) Ba.nkjng_

(3) Defence Services

(4) None of the above .

gt sefamrer & fre 7 @ Bl s %wi’rﬂé‘fmaﬁr?

(1) g facE & serH

(2) e

(3) T A

(4) S & § F5 T

41.

With all the money in her pocket, a woman ‘can buy either 40 apples or
30 oranges. If she decides to buy 14 app}ps as well as save 15% of total
money, how many oranges can she buy

(1 14 @ 15

3) 16 (il) none of these

T 9 ¥ % ¥R @, o A a1 & 40 ¥ o 30 ek EE g 21 AR 78 14 §9 Tl
3 oy & WY g9 98 @ 15%aaﬁa;rﬁvha—cﬂ% I8 R W e e
(1 14 (2: 15 .

(3) 16 @ T d 98 T

PG-EE-2013 (Economics) Code-B
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42. | Generally which Indian state is ranked highest in terms of human
development index '
1) Haryana (2) Gujarat
(3) Maharashtra (4) Kerala
FEOR: fre ARG o0 @ A R e 3 @ § Sean S o A o @
(1) eRaon (2) Tera
@) 4) I
43. | Proportion of GDP spent on education in India is
(1) 6% (2) lessthan 1%
(3) more than 6% (4) none of these
ara & fRren | @ B GDP & e @
1) 6% 2) 1% ¥ %9
(38) 6% ® ¥ (4) =% & #E &
44. | For a decade after mid nintees, employment in organised sector in India
(1) increased rapidly (2) remained stable
(83) declined through out (4) declined and recovered
T 3 WE B UF B Y, 9Ra § §feq & 7 I
(1) R F = (2) fer @
(3) TR &l <8l (4) Fe1 AR gIU
x «.“‘ £
45. | In recent past, centrel budget has been characterised by

(1) high borrowings (2) surplus

@) deficit (4) both (1) and (3)
g & ¥, 3 aote e B aeliga o @

1) = wT (2) e

@) " 4) (1) 7 (3) &

PG-EE-2013 (Economics) Code-B
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Q“;ff"" ‘Questions o
46. | If arithmetic mean qf a,b,c and d is e and sum of first two terms is f, then
the fourth term is equal to
(1) ef : 2 (de-9)/2
' (3) itisnot ;Sossi_ble to find it (4) none of these
3 #&a',b,camdw@mqme%m_maﬁwmf%,aai?rmqaa'{m%
) ek (2) (4e-H/2
(3) =¥ T FE g T B sria{ ) T § B T8
47. | 23+ 7.7(B+(Tx3) +4) =7
(1) 16 (2) itis not possible to find it
(3) 485 (4) none of these e
23+T7(B+x3)+4)=2?
o h s , 2) T @ FEN G T R
(3) 485 (4) T § B T
48. | Standard deviation of age distribution of boysin a class is 1.75 and that of

girls is 2.0. It means

(1) Girls have higher average

(é) Girls have more varied age

(3) Average age of girls is 0.25 more?t_ﬁ;ian that of boys.

(4) None of the above
mwﬁmﬂmwﬂmmlﬁ%wmmzo%lmw%

(1) et &1 ol st 2

@) wehed A oy ¥ v R ¥

@) mﬁvﬁﬂaﬂaﬂeﬂgaﬁ'ﬂaﬁmozsm%
(4) ST & F S T

PG-EE-2013 (Economics) Codea—B
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49,

(8) not possible to find out with the given information

' (4) none of these

{ 3) ﬁﬁwﬁmquﬁ

If price of a commodity increases by 20%, then by what proportion should
a consumer reduce her consumption of this commodity to keep her
expenditure on this commodity constant

(1) 20%
(2) about 17%

aﬁwa@.wﬁzo%aam%,é\wwﬂﬁﬁsﬂa@wmﬁ@%wt@%%m
G IYAT B R F9 FHEN AT

1 20%

(2) @« T17%

(4) " @ P T

50.

If a box has coins of Rs. 1, 2 and 5 only, and total number of coins is 100.
Moreover, there are at least two coins of each denomination in the box.
Therefore.

(1) Maximum amount of money in box can be Rs. 486

(2) Minimum amount of money in box can not be less than Rs. 110

(3) Both of the above |

(4) None of the above 4

o o 99 & daw 1, 2 9 5 5. %m%maﬁmﬁa&m 100 ¥ | 363 o 5
T % F A F 2 R 8t

(1) = ¥ o 9 o AT 486 5.

(2) w8 H o7 B JAew U 110 5. F &9 7 & gl @
(8) Sl I 50

(4) S A | s W

PG-EE~-2013 (Economics) Code-B
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51.

Human'Development Index takes into account

(1) genderinequality (2) regional inequality
(3) generational inequality (4.) none of the above
qMd e GE® T S 8

(1) o Srmear @) ¥ FEaEaT &
3) ST ST # ) swde ¥ & 95 T8

52.

Which of the folloﬁving is not an argument in support of balanced growth
theory .

(1) to make full use of economies of scale and specialisati_.onr
(2) different sectors of the economy are interlinked

(3) to avoid inter-sectoral bottlenecks

(4) none of the above :

Pt & @ v-ar o 3R Rrer o & o o o B
(1) Y 9 Rt e R B ot @ s

(2) - & SIFT-oTT &% e F o8 ¥

(8) oSfav-g= el A Tu

(4) I T § FE T

53.

According to Lewis, supply of labour at existing wage rate to industrial |

sector is I

(1) completely inelastic (2) positive

(3) 'negative T ‘(4) coﬂmi)letely elastic

TeH B SR, SNEfrs & 2 aa Aogh @ W 99 A amgff
(1) i srireri - (2) T

(3) = . @) eia: dadf

PG-EE-2013 (Economics) Code-B
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§5(f_i°“ : Questions
54. | Agriculture is the dominant sector of Indian economy because it has highest
sharein '
(1) National income (2) Employment
(3): Both of the above (4) None of the above
AR 37 e H P O HgG &h ¥ H S e A
() S o A 2) T
(3) T A * (4) ¥ § # T
55. | After independence, per capita availability of pulses in India has
(1) increased (2) decreased
(3) remained stationary (4) none of tﬁese
WAl § g, ARG § A B ogfy e Sucr
(1) e ; @ "%
8) Rer %z @ T q 3 T
56. | Decline in rate of inflation means

(1) Prices are declining

(2) Prices are incréasing at slower rate
(3) Both hof the above ’
(4) None of the above i'
g R R A PR o 8
(1) F PR @ ¥ :

() TN AR R E

(3) Yl AT

@) IR T § B T

PG-EE-2013 (Economics) Code-B

(19)




Code-B

Question

No. Questions ol |
57. | Which of the following is not true of Indian agriculture development

(1) 1t is concentrated on few crops

(2) it is focussed on few regions

(3) it is not export oriented

(4) it has seen balanced growth -

wd o R 3 R P 2 @ dm wd Ay
(1) ®FPBHEA Wa=a e (2) T& 3P 8 | B

_(3) 7 P sfme T @ (4) zE7 Hgfoa gie 3 @

58.

As compared to developed countries, generally India has

(1) lower levels of open unemployment

. (2) higher level of disguised unemployment

(3) both of the above

(4) none of the above

R 39T 4 g 8, W @ o 2
(1) Gt ST B PR &W

(2) gl SUSFIR &1 Ie=el &

(3) W .

(4) ST X q P15 @l

59.

India has been cited as mixed economy because it has
(1) mix of agriculture and industrial sectors

(2) produces for exports as well as doniestic market
(8) flourishing public sector as well as 'Iprlvate sector

(4) none of the above

wﬁﬁﬁaaﬁw%mﬂmﬁa%w%ﬂﬁsmw%
(1) N aen feife &=t & frso

(2) FEl % qg-u Ny T9R F g SO

(3) WId-Geid WSS &% & @o-ar et &

@) S ¥ B T
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60. | Since 1990’s economic policy in India has been characterised by

(1) reduced role of public sector

(2) increased role of multinational corporations
(3) both of the above

(4) only (2) above

1990s & Wz & wﬁmﬁﬁrﬁﬁm%

Q) a8 @ 9 g it am |

@ g u P @ g g aw

(8) SulE A &

(4) P9 SYNH (2) BN

61.

Arrange wheat, cereals and food in such an order that the absolute value
of their price elasticity of demand decreases

(1) wheat, cereals, food (2) food, cereals, wheat

(8) cereals wheat, food (4) cereals, food, wheat

A, o T @ H A H H smeRRad i 5 ST 7 B Ged | B O 9 9E Y
(1) ¥, o, @ (2) @, o, M

@) o, W @ (4) o, @, I

62.

If marginal utility of x was increasing through out rather than diminishing
asis usually assumed, then consumer will coisume

(1) onlyy (2) both xandybut more of x

(3) cannot say ' 4) *only x if she consumes x at all
qﬁxﬁ%aﬁﬁmqﬁ%aﬂﬁﬁw e T & % T TR 96 @ 2, 7@ S|
START HT

(1) 3y (2) xﬂﬂTyﬁqﬁaﬂﬁﬁx

(3) #E 7 wHr (4) 35 x IR 98 x F ITENT FEA &
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Question

No. Questions

63. | Which of the following does not represent demand curve of a normal good..
(1) P =80-D, (2) D 87— 0 5P
3) P = %6?‘ : @) ‘None of the above
e 3 2 4 a1 T A TR B AT T SRR T
(1) P =30-D, (2) D =87-0.5P,
® P,= - @) i ¥ @ B @

64. | Under economic resource ‘labour’ which one of the following is not included
(1) Banker |
(2) Machine operator
(3).- Manual worker
(4j None of the above
aﬁ%w a9’ %Hﬁi’tﬂﬁﬂiﬁfﬁﬂﬂﬁﬁiﬁ?wmqﬁ%
(1) (2) =i T _
@) g s S (@) ST @ A

65.. Which one of the following is not a ‘,[f_ix’;;m’

(1) Bank (2) Cobbler shop

(3) Car manufacturer - X (4)” None of the above
P 3 @ A T 0 o T R

1 ¥ ., @ WA
@ sl @Gﬂﬂ?ﬁﬁ%#“ﬁ
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uestion
No.

Questions

66.

If income of a consumer increases, then for a normal Igood
(1) quantity demanded will increase

(2) demand will increase '

3) bptﬁ of th'e.:above

(4) none of the above

AR o ST B oM aEd R, W e @ R

(1) =R T 7 gl (2) =T s

(3) IWwmaAr (4) IN® 7 P &

67.

Which of the following is a cardinal measure ?
(1) Length of a field in meters (2) Ranks in class test

'(3) Roll numbers of students (4) none of the above

Frefefed & & @i=-a1 999 99 & ? |
1) ¥ FH T=E Hex (2) o qlen & Sfor

T e e ——

68.

(3) Frenfd & argmmie @ A B

If price of one commodity inci'eases by 10% and that of another decreases
by 10%. Prices of other commodities remain constant and money income

also remains constant, then real income will

P -
(1) remain contant (2) increase;,

| (3) decrease - (4) all of the above are possible -

AR @ e F I 10% T & 71 FH HR10% Fee ¥ 1 FH TG 9 I 70 T A
Re it 8, 9 arafas o
1) fer = (2) e

| @ = (4) T Tl
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Sti .
Q“I‘:TO."“ Questions
69. | Division of State’s resources between state and Panchayatl Raj institutions
is usually decided by
(1) Planning Commission (2) Finance Commission
(3) Central government (4) State government
w%wﬁwwmwﬁwmﬁ%aﬁamw ﬁvﬁaaar%
(1) IS SE 2 (2 ReemEmaEm
(3) =9 THN &N (4) T TER W
'70. | Largest share of national income in India comes ft;om |
(1) Primary sector (2) Secondary sector
(3) Tertiary sector (49) Export sector
TR § KT A9 F geaay Reqr o 2
(1) st & | (2) feciias & @
3) s =% ¥ (@ FER & E
71. | Share of labour employed in organised sector in India is about ........ of
total labour employed.
(1) 80% (@) 50%
3) 25% 4) 10%
WA 7 Hfew & 7 Pl o & s g G am @ @, B
(1) 80% (2) 50% :
3) 25% 4 10%
72. | India follows e |
(1) Fixed exchange rate (2) Complete convertibility
(3) Partial convertibility ~ “(4) None of these
(1) Rer R & -2 T Redigar @@

@) oiE Radashom &1 - (@) F7H A P A
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“ﬁ?‘“‘ B A Questions

73. | Objective of creation of spcial economic zones was to
(1) give boost to exports

(2) give boost to imports

(3) toincrease employment

(4) toincrease net foreign exchange earnings

e ol &t & Pt & sdeg o

Employment Gurantee Act ?

(1) Gurantees 100 days of employment per family
(2) Gurantees 100 days of employment per persion
(3) Payment is based on ‘piece rate’ system

(4) Useof hgavy machinery is not allowed

(1) 91 9RAR 100 RT A5 & e 2y 2
(2) fq =fR 100 R Jome 2 et 2qy &
@) THM ‘G T yomeh @ ey e
(4 ol 39 1 Svd e T 2 | i

74. | Which of the following is not true for Mahatma Gandhi National Rural

wwv@awmmm%mﬁ%ﬁwﬁmwﬁﬁ

75. ‘De-industrialisation’ is a term associated with

(1) First three plans ~ (2) "Féurth to eighth plan
(3) British India (4) Mughal India

T e g7 e =

(D) uom 9 Asmne & @ @) W A adt Gy

3) My wra 4) TR R
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Quﬁitio Questions
76. | Ina sciuare room 6 feet long, ho?v many mats of two feet width and length|
1.5 times the width can be placed ? '
1) 6 ' 2 12
3) 8 - (4) None of these ~k
TF 6 P TS FHR FAL 7, A BT NS T ASE H 1.5 o0 TS A e Al
foretE s T 8 ? '
Pse o @ 12
3) 8 4) T | B T
77. | Square root of 5 is closest to .
1) 3 @2 2 e W 22
5 @1 e e &
1 3% ©Q 23 3 2.3% 4 223
78. | If a treasure is divided between A, B and C in such a Way that B gets :

2
of what A gets and C gets half of what B gets, then

(1) A gets half of treasure _(2) B gets %th of treasure
(3) C gets %th of treasure  (4) N;m;p of the above

aft AB a1 C 3 d 9§ o 5 5 A P & B B A A 91 - e § o
Ca B oo P B, a9 '

(1) A@@aﬁmwﬁw% @) Beﬁr@wﬁaﬁr%ﬁlﬁm%

() CRema =P (4 v &
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uestion :
uestions
No. Q 3
79. | Ineconomics, very long run means

(1) a period of at least 10 years

(2) time period after 10 years

(3) time period after 20 years

(4) None of the above

SeTe , sga & omafy # anef ¥

(1) #Hd57 10a8 H 3@y (2) 10a¥ & 97 % FHAER
3 209 F 9 H FEERN  (4) SRET T B A

80.

By ‘normal’ goods, we mean

1) émds used by normal persons

(2) goods which normally all people use
(3) Whose demand decreases with increase in prices
(4) Whose demand increases with increase in income
A qEge |, g i 2

(1) HERT AR &) ST ) T 9l 7]

2) % N TR T AT T o

() frEa w1 g 7 gfs 3 A ged §

@ Pedamom iR st

81.

In an under developed country most abundant resource is

(1) modern technology (2) ;underutilised capital
(3) savings @ none of these

T o R 20§ 9 ag dan 3

(1) oyt deifE (2) %9 ITARE o

3) = 4) 7 & #E T
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Questions

Per capita income as a measure of development is inadequate because .
(1) itignores distributional aspects

(2) itignores sustainability aspects

(3) it ignores and focuses on means

(4) all of the above

e & A & &9 & iy afk o saia @ i

(1) 7 Recha veqgelt # oter wr

(2) % Gneig geqgelt @ Ve H B

(3) %qﬁwﬁaﬁmw%wmwmﬁaﬁr%

(4) S |

83.

In times of inﬂationary pressure, who will be most adversely affected
(1) Businessmen (2) Government

3) Pensioners (4) All will be equally affected

ik [ & G99 §, 990 g0 aw@ D awiRE &

(1) = xa (2) &R

84.

(3) Ul , (4) gft g9+ &9 § g9RE

Fiscal policy deals with

(1) Rate of interest charge& by banks
(2) Income policy of the government s
(3) Expenditure policy of the governm:em: : :
(4) Both income and expenditure policy of the government
T Hify FaerR B § o G

(1) ¥ ER T W TS H R S T

2) TR B dE AT B T

(3) @R @ =7 A7 F @™
(4) TER F S T FF A4 oAl B 9

PG—EE—2013 (Economws) Code-B

(28)




Code-B

Q“ﬁ.s:_i‘m Questions
85. | Decrease in autonomous consumption will shift IS curve
] 1) wup (2) will héire_ no effect
(3) can not say (4) down
I I A FH IS W A g
(1) FR (2) #1 g & &
3) s T T @ R
86. | Periods of increasing prices will lead to
(1) increase in employment (2) decrease in employment
(3) decrease in exports (4) all of the above are possible
T3 g0 T B o & oo |
(1) W g A R © A & 7 A o
(3) Frilg & w4t & dk (4) I ash G
87. | Unit of measurement of MPC is |
(1) Utils .
(2) Rupees . -
(3) Apure number without any unit
4 None of the above .j' E;; |
MPC % A1 % 35 2 _
(1) Utils Yon
b g

3) ﬁmmmﬁ%wg@ﬁw_
(4) SR ¥ § a2 &
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Questi

Questions

88.

Higher levels of income tax for the rich will most likely lead to
(1) decrease in 'consumption- of food - I :

(2) lower enrolement in schOc_)ls

(3) decrease in demand for five star hotels

4) lower expenditure on health

T B R AR B S & & S

(1) @@ 3 I A R

(2) FremeEl # =R Wi H AR

@) e R et & Fre T R A O

(4) @A | TR 74 F AR |

89.

Change in aggregate consumption per unit of change iﬁ disposable income
is called |

(1) increase in demand

(2) decreasein demand

(3) income shift

(4) marginal propensity to consume’

mmmamanﬁm@mmﬂmaﬁm%
(1) =¥ g e

@ =T & FH :

@) ™ T

@) v e s
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RQuestion
No.

Questions

90.

Assuming that overtime prices have been falling arrange following in

descending order of magnitude : Gross domestic product (GDP), Net
domestic product (NDP), disposable income (DI) at current pr1ces
disposable income (DI) at constant prices

(1) GDP, NDP, DI at constant prices, DI at current prices

(2) GDP, NDP, DI at current prices, DI at constant prices

(3) NDP, GDP, DI at current prices, DI at constant prices

4) None of the above : :

78 9 8¢ 5 0 99 3 AW g 9 ® ¥, Fretoiea & ofer # ged g e |
FaREd Weﬁqm(anp), ﬂi@mﬁ (NDP), aﬁwmgagq 13
g @ (D), ﬁmg&ﬁwaﬂmmml)

(1) GDP, NDP, Rex ¥edi W DI, a9 w4t @ DI

(2) GDP, NDP, &w 44 W DI, Rer gedt W DI

(3) NDP, GDP, v gedf w DI, Re gedi © DI

4) IR ¥ q B T

91. | In mid-sixties, for some years India observed plan holiday. It was because
of
(1) drought 2) ﬂoods
(3) political instability (4) none of the above
|6 % % 99 ¥, @aaﬁ%mw%mmmt%ﬁw%mw
1) & (2) %
(3) M SRERaT - (4) IRF A 4 R

92.

Estimates of poverty in India are dirived on the basis of
(1) Economic Census Sogg

(2) Population Census 25

(3)° Door to Door survey by the State Government

(4) Sample survey by Central Government-
wﬁﬁéﬂm%wﬁﬁﬁﬁwémﬁnwaﬂmﬂmw%
(1) 3N SO

(2) SEEEA TR ;

(3) T TIHR B U8 §AuT

(4) W THR & THA gEE
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Question

No Questioné
93. | Arrange following in increasing order : 0.1, 0.02, 0.009, 0.0095
(1) 0.009, 0.0095, 0.02, 0.1 (2) 0.0095, 0.009, 0.02, 0.1
3) 0.1,0.02,0.009, 0.0095 (4) none of.the above
P @ s §T %9 § e #ifv @ 0.1, 0.02, 0.009, 0.0095
(1). 0.009, 0.0095, 0.02, 0.1 (2) 0.0095, 0.009, 0.02, 0.1
(3) 0.1,0.02,0.009,0.0095 - (4) I & & aE &
94. | 1-0.1) (1+0.1)=? |

(1) 202 (@ 1-0.1+0.1- (0.1x1)
(3) 0.99 " - (4) none of these
(1-0.1) (1+0.1)="?
(1) 2.02 : (2) 1-0.1+0.1-(0.1x1)
3 099 (4) T § FE T

95, | (1.999+0.001)°=?
(1) 1.999%+0.001%+ 3 (1.999)2(0.001) + 3 (1.999) (0.00'1)2

5 A
@) 3—2 +17-9
(4) All of the above
(1.999'+ 0.001)*=?
(1) 1.999°+0.001%+ 3 (1.999)%(0.001) + 3 (1.999) (0.001)?
5
@) 2—2 +17-9 _
(4) I7de o | %
96. | Maximum data dispersion is given by :

(1) Variance (2) ;Standard deviation
(3) Range _ (4) None of these
(1) ez (2) wam R aw
(38) Wz (4) T & #i§ &
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Question
No.

Questions

97.

Statement : Some rats are birds. All the birds like mangoes

Conclusion I : All birds are rats

Conclusion II : Some rats like mangoes

From the given statement

(1) Only conélusion I follows (2) Only conclusi_on 11 follows
(3) Both conclusions follows (4) Neither conclusion follows
e 3 6 T ¥ 1A R A o wEe R

Frepet I: &t et @

frepd 11 : 38 T o™ 7T w3 ¥

Ra e He |

(1) @aa Pt [ ogeRa A ®  (2) daw Prepd 11 : rgeRa @ @
(3) At frepd arafa & ¥ (4) #5 F Frepd srgaia T8 e

AR, s

98.

In the evening, after office hours a person walks towards sun, then turns
to his left, then to his right and then right again. Finally he turns left and
directly faces his house. His house faces :

(1) North (2) South

(3) East (4) West i ss : |
maﬁ,mﬁmw%m%aﬁagﬁﬁma@%eﬂ%aﬁaﬁmﬁw%aﬂ%aﬁ
2 g &, oK ReT A gt ) of F s @ $iR U WX & ARH UgH S @ | S

el i , 5
(1) 3 IR (@) R
(8) W& AR (4) uiE" F AR
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Question :
No. Questions
99, | Statement : All women are married. Some women are doctors

Conclusion I : Some married women are not doctors
Conclusion II : All women doctors are not married

From the given statement

(1 ) Both conclusions follow  (2) Only conclusion I follows
(3) Only conclusion II follows (4) Neither conclusion follows
Fo : gt At Rarfea ¥ | g aftan e 2 |
Frep 1 : 9B Rraifea afterd s 7 ¥

Frepd 11 : &l e fefres faed w8 &1

R T o @ :

(1) 3 el ogER@ e & . (2) %o« Frepd 1 orgaia & @
(38) Faw frepdt II orgaRa a1 & (4) H it e orgafa =& &

100.

Relationship between mango, fruits, rice and curd is best represented by

@-OO006 @110

@) C@ | (4) @8

mﬁwwﬁ%ﬁaw&w@rmﬁlﬁﬁaﬁﬁaﬂ%

B QOGe - 8OO

3) @ .(4): 8
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